DATE ADVERTISED: Internet Posting - June 10, 2013 BID OPENED: June 27, 2013			** NOTE: Quantities shown in this column are for in-house use only.		MAUI PAVING, LLC.		MAUI KUPONO BUILDERS, LLC.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX.	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
209.1000	Installation, Maintenance, Monitoring & Removal of BMP	L.S.	L.S.	L.S.	L.S.	\$1,880.00	L.S.	\$7,508.00	L.S.	\$20,000.00
209.2000	Additional Water Pollution, Dust, and Erosion Control	F.A.	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00
312.0100	Hot Mix Glassphalt Concrete Base Course	2,000	2,000	TON	\$104.00	\$208,000.00	\$120.08	* \$240,160.00	\$160.00	\$320,000.00
401.0100	Hot Mix Asphalt (HMA) Pavement, Mix No. IV	8,000	8,000	TON	\$107.12	\$856,960.00	\$125.16	* \$1,001,280.00	\$138.00	\$1,104,000.00
401.0200	Hot Mix Asphalt (HMA) Pavement, Mix No. IV at Guardrail Under, Behind Guardrail and Beyond End Terminals	60	60	Ton	\$367.20	\$22,032.00	\$371.70	\$22,302.00	\$275.00	\$16,500.00
408.0100	Crack Seal of Exisiting Pavement	F.A.	F.A.	F.A.	F.A.	\$126,000.00	F.A.	\$126,000.00	F.A.	\$126,000.00
413.0100	Longitudinal Joint Stabilizer	43,500	43,500	S.F.	\$1.06	\$46,110.00	\$0.58	* \$25,230.00	\$1.50	\$65,250.00
414.0100	Excavation of Weakened Pavement Areas	1,000	1,000	C.Y.	\$55.55	\$55,550.00	\$58.94	* \$58,940.00	\$70.00	\$70,000.00
415.0100	Cold Planing	73,000	73,000	Sq. Yd.	\$1.30	\$94,900.00	\$1.47	* \$107,310.00	\$8.00	\$584,000.00
603.1000	Cleaning Exisiting Culverts	F.A.	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00
604.1200	Adjusting Water Valve Cast Iron Frame and Cover		1	EACH	\$1,910.00	\$1,910.00	\$808.50	* \$808.50	\$1,000.00	\$1,000.00
604.1300	Adjusting Sewer Manhole Cast Iron Frame and Cover	4	4	EACH	\$1,910.00	\$7,640.00	\$1,039.50	\$4,158.00	\$1,000.00	\$4,000.00
614.0100	Adjusting Centerline and Reference Survey Monuments	16	16	EACH	\$1,420.00	\$22,720.00	\$346.50	\$5,544.00	\$2,000.00	\$32,000.00
615.0100	Centerline Milled Rumble Strip	L.S.	L,S.	L.S.	L.S.	\$12,675.00	L.S.	\$9,820.00	L.S.	\$50,000.00
615.0200	Shoulder Milled Rumble Strip	L.S.	L.S.	L.S.	L.S.	\$37,000.00	LS.	\$27,415.00	L.S.	\$80,000.00
615.0300	Edge Line Milled Rumble Strip	L.S.	L.S.	L.S.	L.S.	\$37,000.00	L.S.	\$1,155.00	L.S.	\$40,000.00

	Haleakala Highway Resurfacing, Vicinity of Pukalani Junction to Five Trees NO.: 37C-01-13M NET LENGTH OF PROJECT: 2.06 Mi	les							STATE (DF HAWAII
ISLAND: Maui DISTRICT: Makawao DATE ADVERTISED: Internet Posting - June 10, 2013 BID OPENED: June 27, 2013 COMPLETION TIME: Fifty (50) Working Days		** NOTE: Quantities shown in this column are for in-house use only.			MAUI PAVING, LLC.		MAUI KUPONO BUILDERS, LLC.		DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
623.1000	Traffic Signal System	L.S.	L,S.	L.S.	L.S.	\$56,925.00	L.S.	\$64,800.00	L.S.	\$80,000.00
629.1010	4 - Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion)(White)	L.S.	18,000 L.F.	L.S.	L.S.	\$33,750.00	LS	\$46,336.00	L.S.	\$36,000.00
629.1011	4 - Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion)(Yellow)	L.S.	1,000 L.F.	L.S.	L.S.	\$6,325.00	L.S.	\$97.00	L.S.	\$2,000.00
629.1012	8 - Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion)(White)	L.S.	1,800 L.F.	L.S.	L.S.	\$7,380.00	L.S.	\$8,593.00	L.S.	\$7,200.00
629.1013	12 - Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion)(White and Yellow)	LS.	2,042 L.F.	LS	LS	\$6,325.00	L.S.	\$12,012.00	L.S.	\$10,210.00
629.1014	4 - Inch Double Solid Yellow Pavement Striping (Tape, Type II or Thermoplastic Extrusion)	LS.	15,000 L.F.	L.S.	LS.	\$26,350.00	L.S.	\$31,508.00	L.S.	\$60,000.00
629.1015	Yield Line Pavement Marking (Shark's Teeth Marking) (Thermoplastic Extrusion)	L.S.	40 EA	L.S.	L.S.	\$1,055.00	L.S.	\$2,310.00	L.S.	\$14,000.00
629.1016	Crosswalk Marking (Tape, Type III or Thermoplastic Extrusion)	LS.	25 L.F.	L.S.	LS.	\$7,380.00	L.S.	\$8,888.00	L.S.	\$9,800.00
629.1017	Pavement Arrow (Thermoplastic Extrusion)	L.S.	38 EA	L.S.	L.S.	\$8,440.00	L.S.	\$9,615.00	L.S.	\$11,172.00
629.1018	Pavement Symbol (Thermoplastic Extrusion)	L.S.	8 EA	L.S.	L.S.	\$1,060.00	L.S.	\$2,599.00	L.S.	\$4,000.00
629.2010	Type "A" Pavement Marker	L.S.	800 EA	L.S.	L.S.	\$5,270.00	L.S.	\$3,742.00	L.S.	\$4,000.00
629.2020	Type "C" Pavement Marker	L.S.	500 EA	L.S.	L.S.	\$5,270.00	L.S.	\$6,549.00	L.S.	\$2,500.00
629.2030	Type "D" Pavement Marker	L.S.	250 EA	L.S.	L:S.	\$1,060.00	L.S.	\$1,385.00	L.S.	\$1,250.00

Sheet No. 2 of 4 Sheets

PROJECT: Haleakala Highway Resurfacing, Vicinity of Pukalani Junction to Five Trees

PROJECT NO.: 37C-01-13M NET LENGTH OF PROJECT: 2.06 Miles ISLAND: Maui DISTRICT: Makawao DATE ADVERTISED: Internet Posting - June 10, 2013 BID OPENED: June 27, 2013 COMPLETION TIME: Fifty (50) Working Days			** NOTE: Quantities shown in this column are for in-house use only.		MAUI PAVING, LLC.		MAUI KUPONO BUILDERS, LLC.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
629.2040	Type "H" Pavement Marker	L.S.	550 EA	L.S.	L.S.	\$3,375.00	L.S.	\$3,265.00	L.S.	\$2,200.00
629.2050	Type "F" Pavement Marker	L.S.	3 EA	L.S.	L.S.	\$317.00	L.S.	\$116.00	L.S.	\$75.00
630.0100	Type "A" Route Marker Assembly With Post	L.S.	4 EA	L.S.	L.S.	\$1,343.00	L.S.	\$3,158.00	L.S.	\$2,000.00
630.0200	Type "B" Route Marker Assembly With Post	L.S.	3 EA	L.S.	L.S.	\$1,972.00	L.S.	\$5,390.00	L.S.	\$2,250.00
630.0300	Panel for Destination Sign	73.50	73.50	Sq. Ft.	\$64.00	\$4,704.00	\$62.87	\$4,620.95	\$200.00	\$14,700.00
630.0400	4.00 lbs./ft. Flanged Channel Post for Destination Sign	L.S.	6 EA	LS.	L.S.	\$2,050.00	L.S.	\$2,968.00	L.S.	\$6,000.00
631.1000	Construction sign with Post	L.S.	8 EA	L,S.	L.S.	\$7,030.00	L.S.	\$5,085.00	L.S.	\$9,600.00
631.2000	Regulatory Sign (10 Sq. Ft. or Less) With Steel Post	L.S.	26 EA	L.S.	L.S.	\$18,505.00	L.S.	\$18,870.00	L.S.	\$11,700.00
631.3000	Warning Sign (10 Sq. Ft. or Less) With Steel Post	L.S.	18 EA	L.S.	L.S.	\$6,950.00	L.S.	\$9,891.00	L.S.	\$5,786.00
632.4000	Reflector Marker (Rm-3) Yellow With Flexible Post	L.S.	50 EA	L.S.	L.S.	\$4,743.00	L.S.	\$4,486.00	L.S.	\$7,500.00
632.4100	Reflector Marker (Rm-3) Yellow Without Post	L.S.	75 EA	L.S.	L.S.	\$3,395.00	L.S.	\$2,860.00	L.S.	\$3,750.00
632.4200	Reflector Marker (Rm-5) on Guardrail	L.S.	100 EA	L.S.	L.S.	\$2,293.00	L.S.	\$3,047.00	L.S.	\$2,500.00
632.7600	Mile Post Marker And Supplemental Route Number Plate (Bi - Directional) With Post	LS.	4 EA	LS.	L.S.	\$1,810.00	L.S.	\$3,361.00	L.S.	\$2,400.00
643.0100	Maintenance of Existing Landscape Areas	F.A.	F.A.	F.A.	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00
645.0100	Traffic Control	L.S.	L.S.	L.S.	L.S.	\$88,900.00	L.S.	\$49,607.00	L.S.	\$75,000.00
645.0200	Additional Police Officers, Additional Traffic Control Devices, And Advertisement	F.A.	F.A.	F.A.	F.A.	\$15,000.00	F.A.	\$15,000.00	F.A.	\$15,000.00

PROJECT: Haleakala Highway Resurfacing, Vicinity of Pukalani Junction to Five Trees PROJECT NO.: 37C-01-13M NET LENGTH OF PROJECT: 2.06 Miles ISLAND: Maui DISTRICT: Makawao DATE ADVERTISED: Internet Posting - June 10, 2013 BID OPENED: June 27, 2013 COMPLETION TIME: Fifty (50) Working Days PROJECT: 4.06 Miles *** NOTE: Quantities shown in this column are for in-house use only.					MAUI PAVING, LLC.		MAUI KUPONO BUILDERS, LLC.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
648.0100	Field-Posted Drawings	L.S.	L.S.	L.S.	L.S.	\$600.00	L.S.	\$347.00	L.S.	\$750.00
696.1000	Field Office Trailer (Not to Exceed \$ 32,000.00)	L.S.	L.S.	L.S.	L.S.	\$16,730.00	L.S.	\$18,480.00	L.S.	\$32,000.00
696.2000	Maintenance of Trailers	F.A.	F.A.	F.A.	FA	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00
699.1000	Mobilization (Not to exceed 6% of the Sum of all items excluding the bid price of this item.)	L.S.	L.S.	L.S.	LS.	\$64,005.00	L.S.	\$23,100.00	L.S.	\$50,000.00
	Sum of All Items					\$1,975,689.00		* \$2,044,716.45		\$3,033,093.00
	Hawaii Products Preference					\$97,500.00		\$106,200.00		\$0.00
	Apprenticeship Agreement Preference					\$0.00		\$0.00		\$0.00
	Amount for Comparison of Bids					\$1,878,189.00		\$1,938,516.45		\$3,033,093.00
	* = Corrected Amounts Project Manager: Muli Ahly Date: 7/18/2-013									